Werkkaart 2015-5AD-00002
AFTREK

(1) Skryf slegs die antwoord neer.

(1)90 —45= (11) 150-25=_ (21) 136-34=
(2)100-25=_ (12) 125-120 = (22) 237-30=__
(3)70 —35= (13) 124—-122= (23) 138-37=__
(4)150 —25=__ (14) 427-26=__ (24) 425-405=
(5)60—-20=__ (15 328-28=_ (25) 530-15=__
(6)30 —15=__ (16) 129-19= (26) 600—-300=__
(7)90-11=__ (17) 145-30=__ (27) 133-30=__
(860 —15=__ (18) 500-250=__ (28) 190-45=__
(9)25 -15=__ (19) 120-15= (29) 245-5=__
(10)36 —18= (20) 324—12=_ (30) 730-715=_

(2) Bereken die verskil tussen die getalle.

(8) 60000—2 456 = (b) 14213 -6999 =

(c) 12561 — = 666 (d) 45231- = 5569

(Optel en aftrek is inverse bewerkings)

Aftrek Gr. 5(1) Bladsy 1



